
MATHEMATICS SUMMER ASSIGNMENT FOR CLASS  -  10

TRIGONOMETRIC IDENTITIES

Evaluate the following

1 .  2 sin230o  - 3cos245o + tan260o .

2  . tan 48o tan 23o tan 42o tan 67o

3  . cos 90o sin 0o – sin 0o cos 90o

4  . sin 220o + sin 270o – tan 245o
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9 .If  4 tanA = 3 , then find the value of   
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12. If sin(A - B) =0 ,  cos(A + B)=0  find value of  A and B, where  A and B are acute angle .

13. If  0)tan(.,3)tan(  BAandBA ,find value of  A and  B , where A and  B are acute angles.

14. if sec 2A = cosec(A – 42o), where 2A is an acute angle, find value of A.

15. simplify :  (1+ tan2A) (1 – sinA ) (1 + sinA)

16.If  A, B and C are the interior angles of a triangle ABC, then show that
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17.If  sin( 2A + 45o) = cos(30o - A) , find value of A .

     PROVE THE IDENTITIES

18.  tan4A + tan2A = sec4A – sec2A

19. (cosecA  -  sinA )(secA – cosA )(tanA + cotA) = 1

20.  tan A  + cot A  =  secA cosecA
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24 .  (sinA + cosecA)2 + (cosA + secA)2 = 7 + tan2A + cot2A  
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27,   If  3cossin      then prove that  1costan  

28.  If sin(A – B) = ½  and   cos (A + B) = ½  if  BABA O  ,900 find  A and B.
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31.  prove that    
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32. If  x = r sinA cosC , y = r sinA sinC and  z = r cosA prove that  r2 = x2 + y2 + z2
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